to Have Jad oo &1 daw

S i danly o 2l e "t0 DO" aelld) fadi 'tO BE" Jadl lae b ¢ Jub IS n 2ISOY1 ) putsns

Y gl dmgl Jad) "0 DO deled) Jadl ol Lodls e g 6l ¢ Jadll n gl 5T il B putsind Laie
L Lma uels Jlf plisd e Cond 62V I3V 3L UWT."TO BE" Jodll 5 saslid) JWsl punney
Jlgadl o

t Ay Y sxee ¢ 'TO DO" wslld) Jadll (/s Sl

O A
I do
You do
He does
She does
It does
They do
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| don't | do not
You don't You do not
He doesn’t He does not
She doesn’t She does not
It doesn’t It does not
We don't We do not
They don't They do not
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He doesn’t have a car.
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We don’t play football in the park.
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My father doesn’t work anymore. He is retired.
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| don’t have I do not have
You don’t have You do not have
He doesn’t have He does not have
She doesn’t have She does not have
It doesn’t have It does not have
We don’t have We do not have
They don'’t have They do not have
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